Missing Proportions.

Name: Score:

Find the missing number in the following proportions.

90 :[ | 4 : 12 = 60 [
120:300 = ]:150 144:132 = J:110
21 [ = 84 : 16 15075 = 12 [
13 0123 = ):246 15 0 )= 18 :120
25 1 90 = 90 : | 12 :200 = 36 :[
10 [ J= 40 : 72 120:720 = ]: 54

100 - 80

10 : = 60 :570 25 1 60 = 5:@

100:©= 60 : 150 120:©= 128 : 192
135:180 = 15 :C] 15 : 75 = 70 :C]
240:200 = ]300 200:180 = |: 72
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Answers

Find the missing number in the following proportions.

100: 80 =
120 : 300 =
21 [ 4 )=
13 1123 =

25 ¢ 90 =

100 :(250] =

135180 =

240 - 200 =

90
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- 150

:

360] : 300
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40 : 12 =
144 : 132 =
15 ¢+ 75 =

12 2200 =
120 - 720 =
25 ¢ 60 =

120 : (180 ) =

15 ¢ 75 =

200 - 180 =
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60 :[ 18 ]
120): 110
12 :(60 |
18 : 120
36 (600
(9] 54
128 : 192
70 :(350)
(80]: 72



